
3

I

1.

(a) (b) (c) (d)

(2 – 5) : 

2.

(a) (b)

(c) (d)

3.

(a) (b)

(c) (d)

4. DIMO : DMIO :: JUVR : ?

(a) JRVU (b) JVRU

(c) JVUR (d) JUVR

5. 4 : 19 :: 7 : ?

(a) 52 (b) 68

(c) 49 (d) 28

6. STOVE EVOTS 

CANDLE ELDNAC 

REPORT 

(a) SFQPSU (b) QDONQS

(c) TROPER (d) PORTRE

(7 – 9) : 

7. (a) 22 (b) 18

(c) 12 (d) 15

8. (a) UQ (b) JG

(c) RN (d) NJ

9. (a) (b)

(c) (d)

10.

÷, × 

×, – 

–, + 

+, ÷ 

48 + 6 – 12 ÷ 2 + 10 = ?

(a) 9 (b) 14

(c) 16 (d) 4

11.

(a) (b) (c) (d)

12.

1 2

3 4

5

(a) 1, 3, 5, 2, 4 (b) 5, 4, 1, 3, 2

(c) 2, 1, 4, 3, 5 (d) 4, 1, 5, 2, 3

13.

(a) (b) (c) (d)

14. 133

5

7

(a) 58 (b) 38

(c) 57 (d) 19

15.

(a) (b) (c) (d)

16.

I

0 4 II 5

9

‘D’ 00 12

‘P’ 56

68

‘FIRE’

SSC

–1
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I

II

(a) 02, 03, 57, 01

(b) 33, 34, 76, 22

(c) 21, 22, 88, 33

(d) 14, 10, 69, 14

(17 – 18) : 

17. 0.15, 0.3, ?, 1.2, 2.4

(a) 0.6 (b) 0.9

(c) 0.06 (d) 4.8

18. BCD, DBC, EFG, ?, HIJ

(a) IJH (b) GEF

(c) EGF (d) FEG

19.

(a) (b) (c) (d)

20.

INTERDEPENDENT

(a) DEPEND (b) REPENT

(c) RETREAT (d) DEEPEN

21.

I II

1.

2.

I.

II.

(a) I 

(b) I II

(c) I II 

(d) II 

22.

(a) (b)

(c) (d)

23. 2 = 0, 3 = 3, 4 = 6, 5 = 9 

7 = ?

(a) 18 (b) 12

(c) 15 (d) 16

24.

(a) 6 (b) 3

(c) 5 (d) 10

25.

(a) (b) (c) (d)

II

26. A B 200

C D 250

A, B, C D 

(a) 106 25 (b) 125

(c) 200 (d) 225

27. 15% 

1725

20% 

1800

(a) 1650 (b) 1500

(c) 1700 (d) 1200

28. 5 9

40

(a) 180 (b) 140

(c) 150 (d) 160

29. 20

25

10

(a) 18 (b) 16
2

3

(c) 20 (d) 15

30.

62 144

(a) 925 (b) 600

(c) 1200 (d) 800

31. 1 21 0 09

(a) 3 3 (b) 0 33

(c) 3 03 (d) 0 033

32. 2
1

2

6

1

6
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(a) 4 (b) 3
1

2

(c) 1
3

4
(d) 6

33.

30

286

10

(a) 17 (b) 15

(c) 10 (d) 20

34. 5

 10  13  

10  

 7

(a) 1570.8 (b) 1371.32 

(c) 1470.8 (d) 1100.68 

35. 800 

3 956

4%

3

(a) 1025 (b) 1042 

(c) 1052 (d) 1024 

36. 17 87

3 17

(a) 39 (b) 87

(c) 90 (d) 84

37. 25 3600

(a) 2880 (b) 2700

(c) 4800 (d) 4500

38.

25

1

50

(a) 5 (b) 7

(c) 4 (d) 6

39.

20

10

(a) 6 (b) 9

(c) 7 (d) 8

40. 20

25

P

(a)
5P

3
 (b)

4P

5
 

(c)
3P

5
 (d)

5P

4
 

41. 16 14

12

28 12

(a) 10 (b) 7

(c) 8 (d) 6

42. 6000 8

250

9000

(a) 8 (b) 6

(c) 5 (d) 9

43. 1 3 5 7 9 11 25

(a) 125 (b) 25

(c) 625 (d) 50

44. 1008

(a) 9 (b) 4

(c) 8 (d) 7

45. 0.000441

(a) 0 21 (b) 0 00021

(c) 0 0021 (d) 0 021

46.

12

6500

(a) 5700 (b) 5720

(c) 5400 (d) 6000

47. 20 15

5

1 5

(a) 300 (b) 150

(c) 400 (d) 100

48. 243000

(a) 3 (b) 27

(c) 9 (d) 1

(49 – 50) : 

90-90 6

90-100 9

100-110 16

110-120 13

120-130 4

130-130 2

49. 140

(a)

(b) 2

(c) 1

(d) 0

50. 100

(a) 29 (b) 35

(c) 36 (d) 46

PART-III GENERAL ENGLISH

Directions (51-53) : In the following

questions, some of the sentences have

error and some have none. Find out

which part of a sentence has an error.

The number of that part is your answer.

If there is No error, the answer is (d).
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51. He reassured to his boss (a)/that he

had no plans (b)/to leave the

company(c)./No error (d)

52. The company reports (a)/that the

demand for thier computers (b)/are

growing everyday. (c)/ No error (d)

53. When I saw the dress (a)/I knew it

was exactly (b)/what I had looked for.

(c) / No error (d).

Directions (54-55) : In the following

questions, a part of sentence is printed in

underline. Below are given alternatives

to the underlined part at (a), (b), (c) which

may improve the sentence. Choose correct

alternative. In case no improvement is

needed, your answer is (d).

54. We met a lot of people at our holiday.

(a) on

(b) in

(c) during

(d) No improvement

55. You must remind me to post the

letters.

(a) remember me

(b) have remind me

(c) have remembered me

(d) No improvement.

Directions (55-57) : Fill in the blanks

with the correct tense of the verb from

the given options :

56. I _______ to Agra before, so I don’t

wish to go there again.

(a) had been (b) went

(c) had gone (d) have been

57. Mohan ______ rather tired today.

(a) seems (b) is seeming

(c) is seem (d) do seems

Directions (58–60) : In the following

questions, groups of four words are given.

In each group, one word is correctly

spelt. Find the correctly spelt word.

58. (a) dominent (b) domenant

(c) domenent (d) dominant

59. (a) obsarve (b) obsarving

(c) observer (d) observent

60. (a) aknoledge (b) acknowledge

(c) acknoledge (d) acknolege

Directions (61-62) : In the following

questions, out of four alternatives choose

one which can be substituted for the

given word/sentence.

61. One who makes an official

examination of accounts:

(a) auditor (b) accountant

(c) clerk (d) official

62. One who looks at the bright side of

things:

(a) pessimist

(b) optimist

(c) introvert

(d) extrovert

Directions (63-65): In the following

questions, four alternatives are given for

the Idiom/Phrase printed in underline in

the sentence. Choose the alternative

which best expresses the meaning of the

Idiom/Phrase.

63. Once his crime was discovered, he

had no option but to come clean.

(a) to deny the crime

(b) to confess to the crime

(c) to accuse someone else of the

crime.

(d) to apologize for the crime.

64. The employees were kept in the

dark about the latest developments.

(a) were informed after office hours

(b) were informed when it was too

late

(c) were given secret information

(d) were not informed at all.

65. When things go wrong, everyone

starts passing the buck.

(a) analyes the problem

(b) prepares  to resign

(c) pays a bribe

(d) blames someone else

Directions (66-68): In the following

questions,  choose the word opposite in

meaning to the given word.

66. VAGUE :

(a) Accurate (b) Sharp

(c) Precise (d) actual

67. HARMONY:

(a) disagreement

(b) melody

(c) confusion

(d) discard

68. PURPOSELY:

(a) half-heartedly

(b) timidly

(c) unintentionally

(d) hesitatingly

Directions : (69-70) : In the following

questions, out of the four alternatives,

choose the one which best expresses the

meaning of the given word.

69. PAUCITY

(a) sincerity (b) shortfall

(c) publicity (d) downfall

70. AVERT

(a) hide (b) obey

(c) excuse (d) avoid

Directions (Q. Nos. 71-75) : Read the

given passage carefully and select the

best answer to each question out of the

four given alternatives.

Passage

Many people feel they come alive when

out of doors, perhaps in the countryside.

They are  aware of the purity of the world

around them, and those wounderful,

awesome sounds of nature. Some folk come

alive when they try to convey on a canvas,

however imperfectly, the beauty of a

seascape or landscape. For others again, life

becomes exciting and intense when they

express their thoughts on paper, in story or

in prose form.

71. Many people come alive:

(a) in a pure world

(b) When they are healthy

(c) in the midst of nature

(d) when breathing fresh air

72. The passage focuses on:

(a) the importance of being alive

(b) self expression and nature

(c) environmental awareness

(d) the importance of literature

73. The word ‘awesome’ means:

(a) astounding (b) cacophonous

(c) fearful (d) amazing

74. The countryside offers:

(a) enjoyment of scenic beauty

(b) life out of doors

(c) a virtuous world

(d) harsh sounds

75. For many, life becomes exciting

when they:

(a) travel to the countryside

(b) enjoy landscapes and seascapes

(c) opt for creative expressions

(d) search for perfection
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IV

76.

(a)

(b)

(c)

(d)

77.

(a) (b)

(c) (d)

78.

(a)

(b)

(c)

(d)

79.

(a)

(b)

(c)

(d)

80.

(a)

(b)

(c)

(d)

81.

(a) 349

(b) 350

(c) 350 

(d) 351

82.

(a)

(b)

(c)

(d)

83.

(a)

(b)

(c)

(d)

84.

(a)

(b)

(c)

(d)

85. (Bull) (Big)

(a)

(b)

(c)

(d)

86.

(a)

(b)

(c)

(d)

87.

(a) (b)

(c) (d)

88.

(a) (b)

(c) (d)

89.

(a) (b)

(c) (d)

90.

(a)

(b)

(c)

(d)

91.

(a)

(b)

(c)

(d)

92.

(a) A. C. 

(b) D.C. 

(c) A.C. D.C. 

(d)

93.

(a)

(b)

(c)

(d)

94.

(a)

(b)

(c)

(d)

95.

(a)

(b)

(c)

(d)

96.

(a)

(b)

(c)  

(d) (Plankton)

97. (Blood Pressure)

(a) (Adrenal)

(b) (Thymus)

(c) (Thyroid)

(d) (Corpus Luteum)

98.

(a) (Ecosystem)

(b) (Ecology)

(c) (Autecology)

(d) (Synecology)

99.

a b

c d

100.

a b

c d
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I

1. (b) 

2. (c)

3. (c)

4. (c)

5. (a)    4 × 4 + 3 = 19

7 × 7 + 3 = 52

6. (c)

S T O V E  E V O T S

C A N D L E  E L D N A C

R E P O R T  T R O P E R

7. (a) 22 3

3 × 6 = 18

3 × 4 = 12

3 × 5 = 15

3 × 7 + 1 = 22

8. (b) – 4

–3

– 4

– 4

U Q

J G

R N

N J









9. (a)

10. (d) 
    

  

48 + 6 – 12 ÷ 2 + 10 = ?

 ? = 48 ÷ 6 + 12 × 2 ÷ 10

 ? = 8 + 12 × 

 ? =   = 4

11. (c) 

12. (d)

4.



1.



5.



2.



3.

13. (b) 

14. (b)   = 95 

= 133 – 95 = 38

15. (d)

cd jh

n w/

x k; e qx h Z

16. (a) F  02, 14, 21, 33, 40

I  03, 10, 22, 34, 41

R  57, 69, 76, 88, 95

E  01, 13, 20, 32, 44

FIRE  02, 03, 57, 01

17. (a) 0.15 + 0.15 = 0.30

0.30 + 0.30 = 0.60

0.60 + 0.60 = 1.20

1.20 + 1.20 = 2.40

18. (b)

19. (d)

(d) 

20. (c) ‘A’

RETREAT







21. (d)

II 

22. (b)

23. (b) 2 × 2 – 4 = 0

3 × 2 – 3 = 3

4 × 2 – 2 = 6

5 × 2 – 1 = 9

7 × 2 – 2 = 12

24. (a)

5 × 6 + 4 = 34

4 × 7 + 2 = 30

3 × 8 + ? = 30

 ? = 30 – 24 = 6

25. (c)

(c) 
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II

26. (d) A B 

= 2 × 200 = 400 

C D 

= 2 × 250 = 500 



= 


 = 

= 225 

27. (b) = x 

 = 
ewy/u le; nj 

 


 

 


= 1500 

28. (b)  = 5x 

 = 9x  

9x – 5x = 40   4x = 40

x = 10

 

= 5x + 9x = 14x

= 14 × 10 = 140 

29. (b) 1 

=  = 


 = 

10 

= 


 = 

 =  

 

 

=   

 

=    

30. (b)  = x

 


 

 

  

 




31. (b)  = 

x = 

  

    

   

32. (c)  = x 

= 
nwjh
pky

 




= 6 + 6 =12 

 






 

  

  

33. (a)

= 
100

130
286

F
HG

I
KJ = 220 

 = 


= 257.40 

  = 257.40 – 220

= 37.40 

 

= 


= 17%

34. (a)

(s)

= 
 

  = 14 

 

=   

=   

=   

= 

  = 

 × 

=  = 

= 60  3.742 = 224.52 

 

= (224.52 7)  = 1571.64 

35. (c)  = 956 – 800 = 156 

  = 
C;kt
ewy/u le;





= 



 = 6.5%

 = (6.5 + 4)% = 10.5%

 

= 
ewy/u le;  nj 

= 
 

 = 252 

 

= (800 + 252)

= 1052 

36. (a) 16 

= 87 – 17 × 3 = 87 – 51 = 36



= 36 + 3 = 39 

37. (c)

= x 


 = 3600

x = 


= 4800 

38. (a) = x

 = 

=  

x + 1 = 

x + 1 =  – x = 1

 = 1  x = 5 
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39. (d)

= 100 

 = 120 

10% 

 = 


= 108 

  = 108 – 100 = 8 

  = 8

40. (a)  = x 

P = 





P =  

P =   

x =  

41. (c) 

v kneh d k; Z ?k aV s fnu


28

12

:

:

16

14

UVW 12 : x

    =  

x = 
 


= 8 

42. (d)  = 
nwjh
le;

=  = 750 

 = (750 + 250) 

= 1000 

  =  = 9 

43. (b) n 

= n2

  =  = n

  = 25

 n = 25

44. (d)

 1008

= 2 × 2 × 2 × 2 × 3 × 3 × 7

=   

  = 7

45. (d) 

=  = 0.021

46. (b) = 12%

 

= 6500 × (100 – 12)%

= 


= 5720 

47. (c)   = 

=    

=   

 

=    

=   

 

= 



= 400

48. (c) 243000 = 243 × 1000

 = 3 × 3 × 3 × 3 × 3 × 10 × 10 × 10

=   

  = 32 = 9

49. (a) 

130 – 140  2

140 



50. (b) 100 

= 16 + 13 + 4 + 2 = 35

PART-III GENERAL ENGLISH

51. (a) Preposition ‘to’ should not be used

with the word reassured.

52. (c) The structure of some sentences is :

Noun + Preposition + Noun

In such sentences, Verb agrees with

the number and person the Noun coming

before the first preposition.

Here, demand is singular. Hence is

growing everyday–should be used.

53. (c)  Here, what I had been looking

for/what I was looking for should be used.

54. (c)  during.

55. (d)  No improvement.

56. (d) 57. (d)

58. (d) 59. (c) 60. (b)

61. (a) auditor

62. (b) Optimist

63. (b) Idiom come clean means ; to admit

and explain something that you have kept

as a secret.

64. (d) Idiom in the dark means : knowing

nothing someone; to make somebody else

responsible.

65. (d) Idiom pass the buck means : blame

someone; to make somebody else

responsible.

66. (a) The word Vague (Adjective)

means: not clear; indistinct; not giving enough

information.

The word Precise (Adjective) means:

clear and accurate; exact; meticulous.

The word Sharp (Adjective) means: clear

and definite; having a fine edge.

Hence, the words Vague and Sharp are

antonymous.

67. (b) The word Harmony (Noun)

means: state of peaceful existence and

agreement; the way in which different notes

combine to make a pleasant sound.

68. (c) The word Purposely (Adverb)

means : on purpose; deliberately;

intentionally.

Hence, the words purposely and

unintentionally are antonymous.

69. (b) The word Paucity (Noun) means

: a small amount of something; less than

enough of something; deficit; shortfall.

70. (d) The word Avert (Verb) means : to

prevent something bad or dangerous from

happening to turn your eyes; avoid.

71. (a)  in a pure world.

72. (b)  self expression and nature.

73. (c)  fearful.

74. (a)  enjoyment of scenic beauty.

75. (c)  opt for creative expressions.
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IV

76. (c)

77. (a)

78. (a)

79. (a)

80. (d)

81. (c)

82. (b)

83. (b)

84. (c)

85. (c)

86. (a)

87. (c)

88. (a)

89. (b)

90. (a)

91. (d)

92. (c) A.C. 

(Transformer) 

(D.C) 

133, 000 

A.C.

93. (c)

(V) 

(I) 

= 

94. (b)

95. (d)

1824 

(Joseph Aspdin) 

96. (d)

(Plankton)





Fauna 

97. (a) (Blood Pressure)

(Adrenal glad) 
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 Adrenal Medulla Adrenalin

Hormone Emergency

Hormone Adrenalin 

 Glycogen Glucose 

Adrinal gland

Emergency gland 

 Thyroid gland Thyroxine 

Hormone 

Cretinism 

30

5 

98. (b)

Ecology 



(Bioticfactor) (A Biotic

Factor)

Biotic Factor 

A Biotic Factor 

 Autecology 

Autecology 

 Synecoloty 

Synecology 

99. (a) 100. (d)
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